

Page 1 of 1

Florida Department of Transportation



05210602

Letting:

Vendor Ranking

Call Order: 006 Contract: E5X23-R0

District: District 5 Counties: BREVARD, DIST/ST- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

WIDE, FLAGLER, LAKE, Project(s): 42795717231 (*)

MARION, ORANGE,

Contract Desc: Miscellaneous Shoulder Repair

OSCEOLA, SEMINOLE,
SUMTER, VOLUSIA

June 02, 2021 2:00 PM

Percent Of Bid Type Bid Status Rank Vendor **Total Bid** Low Bid MIDWESTERN CONSTRUCTION, INC Winning bid 1 Responsive \$360,562.50 100.00% 2 WRANGLER CONSTRUCTION INC. Responsive Non-Winning Bid \$389,428.00 108.01% Non-Winning Bid 3 **B&B OUTDOOR SERVICES, LLC** Responsive \$431,175.00 119.58% 4 Non-Winning Bid ROGAR MANAGEMENT & CONSULTING OF Responsive \$638,935.50 177.21% FLORIDA LLC FAITH CONSTRUCTION GROUP, INC. Non Irregular bid

Responsive

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute

a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 7

Letting: 05210602 June 02, 2021 **Call Order:** 006 **Contract:** E5X23-R0

District: District 5 Counties: BREVARD, DIST/ST- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS WIDE, FLAGLER, LAKE, Project(s): 42795717231 (*)

Contract Descr: Miscellaneous Shoulder Repair

EDOT District 5

MARION, ORANGE,
OSCEOLA, SEMINOLE,

Proposal ID No.: E5X23

Financial Project No.: 427957-1-72-31

Fiscal Year: 2021

Counties: Orange, Seminole, Lake Contract Calendar Days: 365

Contract Term begins upon effective date of Notice to Proceed. This Contract includes an option for 2 annual renewals.

This is a Work Document driven Contract with a budgetary ceiling of \$400,000.

Intent:

The work under this Contract consists of miscellaneous roadside repair, including cleaning and reshaping ditches; small machine mowing, slope mowing and litter removal; reworking unpaved shoulders and utility strips; mechanical sweeping; graffiti removal; and manual weed control in various locations on an as-needed basis.

Note:

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Alternate Item Description	Quantity Units	(1) MIDW CONSTRUC		(2) WRA		` '	OOR SERVICES,
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(REWORK NOI	NPAVE SHOULDE	R (AC				
0005 0120 6 EMBANKMENT	25.000 CY	50.00000	1,250.00	50.00000	1,250.00	10.00000	250.00
0010 0120 10 21 CLEAN AND RESHAPE DITCH, HAUI DITCH WIDTH UP TO 15'	2,250.000 _, LF	2.50000	5,625.00	19.20000	43,200.00	23.00000	51,750.00



Page 2 of 7

Florida Department of Transportation



Tabulation of Bids

Lettin	g : 05	210602	June 02, 2021	Ca	II Order: 006		Contract:	E5X23-R0	
_	No / Item ID Description	Alternate	Quantity Units	(1) MIDW CONSTRUC		(2) WRA CONSTRUC			OOR SERVICES, LC
	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(REWORK NO	NPAVE SHOULDE	ER (AC				
	0120 10 22 AND RESHAP WIDTH 15-30'	E DITCH, HAU	1,250.000 JL, LF	2.75000	3,437.50	23.00000	28,750.00	31.00000	38,750.00
0020 MOWIN	E104 4 2 IG (SLOPE)		800.000 AC	150.00000	120,000.00	95.00000	76,000.00	110.00000	88,000.00
0025 MOWIN	E104 4 3 IG (SMALL MAC	CHINE)	225.000 AC	100.00000	22,500.00	70.00000	15,750.00	60.00000	13,500.00
0030 WEED (E104 50 CONTROL MAN	NUAL	45.000 AC	800.00000	36,000.00	300.00000	13,500.00	50.00000	2,250.00
0035 LITTER	E110 30 REMOVAL		2,800.000 AC	15.00000	42,000.00	16.00000	44,800.00	25.00000	70,000.00
0040 SWEEP	E110 31 PING (MECHAN	IICAL)	250.000 PM	65.00000	16,250.00	96.00000	24,000.00	160.00000	40,000.00
0045 GRAFF	E563 99 ITI REMOVAL		250.000 SF	20.00000	5,000.00	5.10000	1,275.00	20.00000	5,000.00
0050 SODDIN	E575 1 NG		4,500.000 SY	3.00000	13,500.00	8.00000	36,000.00	5.00000	22,500.00
0055 SOIL LA MATER	E575 2 AYER MATERIA IAL	AL- IMPORTEI	500.000 D CY	50.00000	25,000.00	75.00000	37,500.00	22.00000	11,000.00





Tabulation of Bids

Page 3 of 7

Letting:	052	ر 10602	June 02, 2021	Cal	l Order: 006		Contract:	E5X23-R0	
	o / Item ID escription	Alternate	Quantity Units	(1) MIDWI CONSTRUC		(2) WRA CONSTRUC			OOR SERVICES, LC
() indica	ates item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: 0	001	(REWORK NO	NPAVE SHOULDE	R (AC				
	E577 70 ER REWORK		5,500.000 SY	2.00000	11,000.00	5.25000	28,875.00	5.00000	27,500.00
	577 70 1 ING SHOULDE)	ERS (SPOT	1,750.000 SY	2.00000	3,500.00	3.00000	5,250.00	3.50000	6,125.00
	577 70 2 ING UTILITY S	STRIPS	3,500.000 SY	10.00000	35,000.00	4.00000	14,000.00	4.00000	14,000.00
BLADING I	E577 71 PAVED SHOU PAVEMENT	ILDER, UP TO	2,000.000 O 24" LF	1.00000	2,000.00	4.00000	8,000.00	4.50000	9,000.00
0080 E MOWING MACHINE)		GULAR/LAR	350.000 GE AC	40.00000	14,000.00	26.00000	9,100.00	85.00000	29,750.00
0085 E EDGING	E110 32 2		18.000 MI	250.00000	4,500.00	121.00000	2,178.00	100.00000	1,800.00
000	01 REWORK N SHOULI	ONPAVE SE	ection Totals:		\$360,562.50 ¹		\$389,428.00		\$431,175.00
	C	Contract Gra	and Totals:		\$360,562.50		\$389,428.00		431,175.00





Tabulation of Bids

Page 4 of 7

Letting:	05210602	June 02, 2021	Call	Order: 006		Contract:	E5X23-R0	
	/ Item ID Alterna	te Quantity Units	(4) ROGAR MAN	F FLORIDA				
() indicat	es item is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
s	ECTION: 0001	(REWORK NO	NPAVE SHOULDER	(AC				
0005 01 EMBANKMI	20 6 ENT	25.000 CY	101.00000	2,525.00				
CLEAN ANI	20 10 21 D RESHAPE DITCH, HA TH UP TO 15'	2,250.000 .UL, LF	11.61000	26,122.50				
	20 10 22 D RESHAPE DITCH, HA ITH 15-30'	1,250.000 .UL, LF	24.61000	30,762.50				
0020 E1 MOWING (5	104 4 2 SLOPE)	800.000 AC	250.00000	200,000.00				
	04 4 3 SMALL MACHINE)	225.000 AC	300.00000	67,500.00				
	104 50 NTROL MANUAL	45.000 AC	300.00000	13,500.00				
0035 E1 LITTER RE	110 30 MOVAL	2,800.000 AC	29.00000	81,200.00				
	110 31 G (MECHANICAL)	250.000 PM	101.00000	25,250.00				
0045 E5 GRAFFITI F	663 99 REMOVAL	250.000 SF	29.61000	7,402.50				





Tabulation of Bids

Page 5 of 7

Letting:	052106	02 Jur	ne 02, 2021	Call	Order: 006		Contract:	E5X23-R0	
	lo / Item ID A	Alternate	Quantity Units	(4) ROGAR MAN CONSULTING (OF FLORIDA				
() indica	ates item is bid as Lu	mp Sum		Unit Price LLC	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(R	EWORK NON	IPAVE SHOULDER	R (AC				
0050 E SODDING	E575 1 G		4,500.000 SY	13.61000	61,245.00				
	E575 2 ER MATERIAL- IM L	PORTED	500.000 CY	34.61000	17,305.00				
	E577 70 ER REWORK		5,500.000 SY	3.61000	19,855.00				
	E577 70 1 ING SHOULDERS)	(SPOT	1,750.000 SY	10.00000	17,500.00				
	E577 70 2 ING UTILITY STRI	PS	3,500.000 SY	10.00000	35,000.00				
BLADING	E577 71 PAVED SHOULDE PAVEMENT	ER, UP TO 2	2,000.000 24" LF	2.60000	5,200.00				
0080 E MOWING MACHINE		LAR/LARGE	350.000 E AC	61.00000	21,350.00				
0085 E EDGING	E110 32 2		18.000 MI	401.00000	7,218.00				





Tabulation of Bids

Page 6 of 7

Letting:	05210602	June 02, 2021	Call Order: 006	Contract:	E5X23-R0

Line No / Item ID Alternate Item Description	Quantity Units	(4) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		
() indicates item is bid as Lump Sum	5 5	Unit Price Ext Amount	Unit Price Ext Amount	Unit Price Ext Amount

SECTION: 0001 (REWORK NONPAVE SHOULDER (AC

0001 REWORK NONPAVE Section Totals: \$638,935.50

SHOULDER (AC)

Contract Grand Totals:	\$638,935.50	



07/15/2021

Tabulation of Bids

Page 7 of 7

Letting: 05210602 June 02, 2021

Call Order: 006

Contract:

E5X23-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.